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Arlstotellan Syllogisms
3 another example

a b b — —C All snakes are reptiles.
— No reptile has ftur.
a — —C . No snake has fur.

Aristotle
384-322 BC
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substitution

aFEb bFCc

a C

since this works for any predicates,
a,b,c, it works for a, b, =C
the following rule must also be sound

Euler diagram?
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L —I Aristotle
CI/ C 384-322 BC
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syllogism

every aisb everybisnotc

aFb bF —cC

a = —c

tstotle every a is not c

384-322 BC
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syllogism

nobisc

every aisb everybisnotc

aFb bF —cC

a E —c

every ais not c
nO a |S C Aristotle

384-322 BC
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allaisb nobisc
__ __ syllogism
aFEb bE —c
celarent a : _IC
noaisc

All snakes are reptiles
No reptiles have fur
.« No snakes have fur

Aristotle
384-322 BC
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Venn interpretation

bEc aFb bFE —c
C a = —c

Euler diagrams? Venn diagrams
These regions

allaisb
aFEb Q @
- \\\\\\_ are empty
a = —b Q

Aristotle
384-322 BC



allaisb nobisc

X

INFTA

soundness

aFb bF —c
ZgXUy celarent a E —c

Euler diagram?

a M
@ All snakes are reptiles
No reptiles have fur

: <. No snakes have fur
NO a IS C

& J
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a b b — —C All snakes are reptiles.
— No reptile has ftur.
a — —C . No snake has fur.

Aristotle
384-322 BC



alFEb b

barbara |

ar—C

take
contrapositive

—c aFb bE —c
celarent CI/ — _|C
aEb cFE b
cesare | _IC
aFEb cE b
camestres

C—
aFEb bF —c
calemes C - —|a

INFTA

syllogism

Aristotle
384-322 BC



aFb bFc aEb bE —c
barbara aFE c celarent a = —c
aEb ckE b
logic Is just

a
COmmOﬂ Seﬂse camestres

i
symbolic form 4

C

b

calemes
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' syllogism

Aristotle
384-322 BC



all greeks are men ‘ | N :1 A

all men are mortal aEb bE —c
-. all greeks are mortal —
a = —c example
aFb bFc all humans are mammals
barbara | no mammals are reptiles
arC - no humans are reptiles  gur first five syllogisms

aEFEb cF-=b aFb bF—-c aFb cF b

camestres | calemes | cesare |
— C — Q4 a — —C

all humans are mammals all humans are mammals all humans are mammals

no reptiles are mammals no mammals are reptiles no reptiles are mammals

.. no reptiles are humans .. no reptiles are humans . no humans are reptiles



